HBS— /0N

<RC>

30
" I
——
b e
1 g Q
MR ——
QB —
0 — T
LTk — 30 25 30
P5{7:RC-ALC- BB ] 1 ]
SBIMT o BREEIM O . : 0
° 30 30
25 W 25 |
Baq7
_ <ERE AT >
<@@E> . 42 28
< <BBI > = N
<ALC> Q o | R Nu? — ©|
! g ° ‘ b . } ‘E%‘ I
[ 1 TREE R
L o ° | R J
Nl ‘ ‘ v . T HE_L _ -
o P B HE . 7d J Jis o
A 5 K R I
S L 00| 4t Y
T L 9@1;@{’: 70&& - [ ] i
\ - | o =
[{ 5 8 S 2
3.5]| 385 | 28
N = {J
. @ 3.3 30 0 3033 - 33.5 30 30 . 335
1 zslles IR
7 35 . 30 L 30 . 35 U ﬁ U 335 50 50 — E, %
I [ T LT ﬂ - S
J° . L J B 5
in | 20 AN l2s |30 ] |30 25]
N | 25 25 | | N 80 W
8.3 8.3
30 | | 30 - T 3
17| 25 W 25 |17 60 W 60 ‘

< FIXERS >




